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SECTION -A [PHYSICS]

1. ,d vkos'k q dks nks Q vkos'kksa dks tksM+us okyh
js[kk ds e/; j[kk tkrk gSA ;fn fudk;
lkE;koLFkk esa gks] rks q dk eku gksxk\
(1) Q/2 (2) –Q/2
(3) Q/4 (4) –Q/4

2. ,d fo|qr ifjiFk fp= esa fn;k x;k gS] ftleas
A ,oa B nks cYc R izfrjks/k rFkk ,d cSVjh fn;k
x;k gSA ;fn cYc A dh rUrq ty tk;s rks cYc
B ds fy;s D;k lE; gS&

(1) ,d cUn gS

(2) bldh ped ifjofrZr ugha gksxh

(3) ;g /khek gks tk;sxk

(4) ;g pedhyk gksrk tk;sxk

3. fo|qr okg cy E okys lsy dks tc izfrjks/k R
ls tksM+k tkrk gS] rks lsy ds fljksa dk foHkokUrj
V gSA lsy dk vkUrfjd izfrjks/k gS&

(1) ( )R E V (2)
E V

R



(3)
( )E V

E
R


(4)

( )E V
R

V



4. nks vory niZ.kksa ds e/; ,d oLrq dks j[kk
x;k gS] ;fn izR;sd niZ.k dh Qksdl nwjh 10

cm gS] rks ,d izfrfcac izkIr djus ds fy;s niZ.kksa
ds chp dh nwjh lsUVhehVj esa gksxh&
(1) 10 (2) 20
(3) 20 (4) 50

1. If a charge q is placed at the centre of the
line joining two equal charges Q such that
the system is in equilibrium then the value
of q is:
(1) Q/2 (2) –Q/2
(3) Q/4 (4) –Q/4

2. A circuit consists of a battery, a resistor R
and two identical light bulbs A and B as
shown. If the filaments in light A burns out,
then the following is true for light bulb B :

(1) it is turned off
(2) its brightness does not change
(3) it gets dimmer
(4) it gets brighter

3. A cell of emf E is connected across a resis-
tance R. The potential difference between the
terminals of the cell is found to be V. The
internal resistance of the cell is given as :

(1) ( )R E V (2)
E V

R



(3)
( )E V

E
R


(4)

( )E V
R

V



4. A point object is placed in the middle of two
concave mirrors. The focal length of each
mirror is 10 cm. to obtain single image of
point object, the distance between two mir-
rors in cm will be:
(1) 10 (2) 20
(3) 20 (4) 50
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5. izdk'k dk DokaVe fl)kUr fn;k gS&

(1) U;wVu

(2) Iykad

(3) QSjkMs

(4) bueas ls dksbZ ugha

6. ,d mÙky ysal  =.5 okys viorZukad dk cuk
gqvk gSA ;fn mls  = 1.33 viorZukad okys
ty eas Mqck fn;k tk;s rks ;g fuEu esa ls
fdldh rjg O;ogkj djsxk\

(1) vfHklkjh ySal

(2) vilkjh ySal

(3) lery ySal

(4) fizTe

7. jesa'k dks –2.5 D okys 'kfDr ds p'esa dh
vko';drk gksrh gSA bldh nwj fcUnq gS&

(1) 25 cm

(2) 40 cm

(3) –25 cm

(4) –40 cm

8. vk¡[kksa esa izos'k djus ij izdk'k dk vf/kdre
viorZu gksrk gS&

(1) ySal esa

(2) dkWfu;k ds ckgjh lrg ij

(3) dkWfu;k ds vkUrfjd lrg ij

(4) vkbfjl esa

5. Quantum theory of light was given by :

(1) Newton

(2) Plank

(3) Faraday

(4) None of these

6. A thin lens is made with a material having

refractive index  =.5 Both the sides are

convex. It is dipped in water  = 1.33) it

will behave like :

(1) a convergent lens

(2) a divergent lens

(3) a rectangular slab

(4) a prism

7. Ramesh wears glasses of power – 2.5 D. His
far point is

(1) 25 cm.

(2) 40 cm.

(3) – 25 cm.

(4) – 40 cm.

8. Most of the refraction for the light rays en-
tering the eye occurs

(1) at the crystalline eye lens.

(2) at the outer surface of the cornea.

(3) at the inner surface of the cornea.

(4) at the iris.
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[CHEMISTRY]

9.

fuEufyf[kr vfHkfØ;k esa p,q,r,s dk eku Kkr
djsa&

(1) 

(2) 

(3) 

(4) 

10. fuEufyf[kr vfHkfØ;k esa

2H
2
S + SO

2
 3S+2H

2
O vt

(1) H
2
S vkWDlhÑr gksrk gS

(2) SO
2 
vkWDlhÑr gksrk gS

(3) H
2
S vkDlhdkjd gS

(4) SO
2 
vipk;d gS

11. bFksuksbd vEy dh {kkjrk Kkr djs&

(1) 1 (2) 2

(3) 3 (4) 4

12. tc CO
2 
dks pwus ds ikuh ls xqtkjk tkrk gS rks og

nwf/k;k gks tkrk gS] ijarq ;g lQsn jax T;knk CO
2

xqtkjus ij [kRe gks tkrk gS ,slk fdlds cuus ls
gksrk gS&

(1) CaCO
3

(2) Ca(HCO
3
)

2

(3) CaO

(4) Ca(OH)
2

9. Values of p, q, r, s and t are in the following
reaction

 

(1) 

(2) 

(3) 

(4) 

10. In this reaction,

2H
2
S + SO

2
 3S+2H

2
O vt

(1) H
2
S has been oxidized

(2) SO
2 
 has been oxidized

(3) H
2
S is the oxidizing agent

(4) SO
2 
 is the reducing agent

11. The basicity of the Ethanoic acid is –

(1) 1 (mono basic) (2) 2 (di basic)

(3) 3 (tri basic) (4) 4 (tetra basic)

12. When carbon dioxide is passed through lime
water it turns milky, but this white colour
disappears on further addition of CO

2
. This

is due to the formation of –

(1) calcium carbonate

(2) calcium bicarbonate

(3) calcium oxide

(4) calcium hydroxide
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13. feyku dfj;s&

(a) Qksjfed vEy (i) futZyhdkjd

(b) ukbfVªd vEy (ii) vkxsZfud vEy

(c) fo|qr vi?kV~; (iii)[kfut vEy

(d) lkanz H
2
SO

4
(iv) NaCl

(1) (a)(ii), (b)(iii), (c)(iv), (d)(i)

(2) (a)(i), (b)(ii), (c)(iii), (d)(iv)

(3) (a)(iii), (b)(i), (c)(iv), (d)(ii)

(4) (a)(iv), (b)(iii), (c)(i), (d)(ii)

14. flusckj fdldk v;Ld gS&

(1) Hg (2) Cu

(3) Ca (4) Pb

15. /kkrqvksa dks 'kq) djus ds dbZ rjhds viuk;s tkrs
gSA buesa ls dkSulh /kkrq,¡ fo|qr~&vi?kVuh ìFkDdj.k
(electrolytic refining) ls 'kq) djh tkrh gS&

(i) Au          (ii) Cu      (iii) Na       (iv) K

(1) (i) vkSj (ii) (2) (i) vkSj (iii)

(3) (ii) vkSj (iii) (4) (iii) vkSj (iv)

16. buesa ls fdl ;kSfxd esa nksuksa vk;fud o lgla;kstd
ca/k gS&

(1) NaBr

(2) Ba(CN)
2

(3) PCl
5

(4) CH
3
CH

2
OH

13. Match the following :

(a) Formic acid (i) Dehydrating agent

(b) Nitric acid (ii) Organic acid

(c) Electrolyte (iii) Mineral acid

(d) Conc.H
2
SO

4
(iv) NaCl

(1) (a)(ii), (b)(iii), (c)(iv), (d)(i)

(2) (a)(i), (b)(ii), (c)(iii), (d)(iv)

(3) (a)(iii), (b)(i), (c)(iv), (d)(ii)

(4) (a)(iv), (b)(iii), (c)(i), (d)(ii)

14. Cinnabar is an ore of

(1) Mercury (2) Copper

(3) Calcium (4) Lead

15. Metals are refined by using different meth-
ods. Which of the following metals are re-
fined by electrolytic refining?

(i) Au          (ii) Cu      (iii) Na       (iv) K

(1) (i) and (ii) (2) (i) and (iii)

(3) (ii) and (iii) (4) (iii) and (iv)

16. Which of the following compounds has both
ionic and covalent bonding ?

(1) NaBr

(2) Ba(CN)
2

(3) PCl
5

(4) CH
3
CH

2
OH
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[BIOLOGY]

17. izdk'k la'ys"k.k dh izfØ;k esa vkWDlhtu dgk¡
ls eqDr gksrh gS&

(1) ty (2) gfjr yod

(3) CO
2

(4) Xywdkst

18. Loiks"kh esa vkUrfjd ¼dksf'kdh;½ ÅtkZ vkjf{kr
gS&

(1) Xykbdkstu (2) izksVhu

(3) LVkpZ (4) olh; vEy

19. vuqefLr"d]iksUl ,oa es.Mwyk Hkkx gS&

(1) izkslsuflQsyksu

(2) ehtsuflQsyksu

(3) jksEcsuflQsyksu

(4) fuEu esa ls dksbZ ugha

20. tyeXu ikni eas&

(1) izdk'k la'ys"k.k ds fy, izdk'k dh
vko';drk ugha
(2) izdk'k la'ys"k.k ugha gksrk gS
(3) izdk'k la'ys"k.k ds fy, izdk'k vko';d gS
(4) izdk'k la'ys"k.k ds fy, CO

2 
dh vko';drk

ugha gksrh gS

21. LVkpZ ifj{k.k ds fy, vk;ksMhu dk mi;ksx
djus ds igys ,d iRrh dks ,Ydksgy esa mckyk
tkrk gS rkfd&

(1) LVkpZ esa ?kqy tk;s

(2) gfjryod esa ?kqy tk;s

(3) ifÙk eqyk;e gks tk;s

(4) vk;ksfMu ls vfHkfØ;k ds fy,

17. Oxygen liberated during photosynthesis
comes from-

(1) Water (2) Chlorophyll

(3) Carbon dioxide (4) Glucose

18. The internal(cellular) energy reserve in au-
totrophs is-

(1) Glycogen (2) Protein

(3) Starch (4) Fatty acid

19. Cerebellum, pons varolli, and medulla are a
part of-

(1) prosencephalon

(2) mesencephalon

(3) rhombencephalon

(4) none of the above

20. In submerged water plants (eg. hrdrilla)-

(1) Light is not needed for photosynthesis

(2) Photosynthesis does not occur

(3) Light is necessary for photosynthesis

(4) CO
2
 is not needed for photosynthesis

21. A leaf is boiled in alcohol before using io-
dine for starch test in order to-

(1) dissolve starch

(2) dissolve chlorophyll

(3) soften the leaf

(4) make it react with iodine
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22. ikS/kks ij ifjiDo ifÙk;ksa vkSj Qyksa dk lM+uk
fdl inkFkZ ds dkj.k gksrk gS&

(1) vkWfDltu

(2) ftcjsfyu

(3) ,sfClfld vEy

(4) lkbVksdkbfuu

23. eVj ds ikS/kksa esa VsafMy dh o`f) fdl dkj.k
gksrh gS&

(1) izdk'k dk izHkko

(2) xq:Rokd"kZ.k dk izHkko

(3) VsafMy dksf'kdkvkas esa rsth ls dksf'kdk foHkktu
ds dkj.k gksrh gS tks leFkZu ls nwj gksrh gS

(4) VsafMªy dksf'kdkvksa esa rsth ls foHkktu ds
dkj.k tks leFkZu ls gksrk gSA

24. fuEu esa ls efLr"d ds fy, lgh dFku gS&

(i) efLr"d eq[; Hkkx i'pefLr"d esa fLFkr
gksrk gS

(2) vxz efLr"d esa lquuk] xa/k] ;knnkLr] ns[kus
ds dsUnz fLFkr gS

(3) i'p efLr"d dk esMwyk vuSfPNd fØ;k;sa
tSls ykj dk L=ko] mYVh] jDr nkc dk fu;a=.k
djrk gS

(4) vuqefLr"d 'kjhj dk larqyu ugha djrk gS

(1) i vkSj ii

(2) i, ii vkSj iii

(3) ii vkSj iii

(4) iii vkSj iv

22. The substance that triggers the fall of ma-
ture leaves and fruits from plants is due to-

(1) auxin

(2) gibberellin

(3) abscisic acid

(4) cytokinin

23. The growth of tendril in pea plants is due
to-

(1) effect of light

(2) effect of gravity

(3) rapid cell divisions in tendrillar cells that
are away from the support

(4) rapid cell divisions in tendrillar cells in
contact with the support

24. Which of the following statements are true
about the brain?

(i) The main thinking part of brain is hind
brain

(ii) Centres of hearing, smell, memory sight,
etc. are located in fore brain

(iii) Involuntary actions like salivation, vom-
iting, blood pressure are controlled by the
medulla in the hind brain.

(iv) cerebellum does not control the posture
and balance of the body.

(1) i and ii

(2) i, ii, and iii

(3) ii and iii

(4) iii and iv
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[MATHEMATICS]

25. fuEu esa ls dkSulh vifjes; la[;k gS&

(i) 2 3

(ii) 4 25

(iii) 3 5 7

(iv) 36 8

(1) (i), (ii) (2) (iii), (iv)

(3) (i), (iii) (4) (i), (iii), (iv)

26. 8 2 15 8 2 15   gksxk&

(1) 2 5 (2) 8

(3) 12 (4) 5

27. ;fn 
a b c

x y y z z x
 

    rc dk Sulh

lehdj.k lgh gS&

(1) a = b + c

(2) c = a + b

(3) b = a × c

(4) b = a + c

28. ;fn f}?kkr lehdj.k 2x2 + 3kx + 8 = 0  ds
ewy leku gS rc k  dk eku gS&

(1) 
2

3
 (2) 

3

2


(3) 
3

8
 (4) 

8

3


25. Which of the following are irrational num-
bers?

(i) 2 3

(ii) 4 25

(iii) 3 5 7

(iv) 36 8

(1) (i), (ii) (2) (iii), (iv)

(3) (i), (iii) (4) (i), (iii), (iv)

26. 8 2 15 8 2 15    is-

(1) 2 5 (2) 8

(3) 12 (4) 5

27. If 
a b c

x y y z z x
 

    then which of the

following equations is true?

(1) a = b + c

(2) c = a + b

(3) b = a × c

(4) b = a + c

28. If the roots of a quadratic equation

2x2 + 3kx + 8 = 0 are equal, the value of k is

(1) 
2

3
 (2) 

3

2


(3) 
3

8
 (4) 

8

3

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29. fn[kk, x, ik¡p LVkj esa v{kj A,B,C,D rFkk E
dks la[;k 3,5,6,7 o 9 ls cny fn;k tkrk gS]
t:jh ugha blh Øe esa cnysA js[kk[k.M AB,

BC, CD, DE rFkk ES ds fljksa ij la[;kvksa dk
;ksx lekUrj Js<+h esa gS] t:jh ugha blh Øe esa
gks] rc lekUrj Js<+h dk e/; in dk eku
gksxk&

(1) 9 (2) 10

(3) 11 (4) 12

30.  (x – 1)(x – 3)(x – 5)....(x – 99) esa x49  dk
xq.kkad gksxk&

(1) 1 (2) –999

(3) –2990 (4) –2500

31. ;fn 
1

5x
x

   rc

3 2
3 2

1 5 1
5x x x

x x x
      gksxk

(1) –5 (2) 0

(3) 5 (4) 10

29. In the five-sided star shown, the letter A,B,
C, D, and E are replaced by the numbers 3,
5, 6, 7 and 9 although not necessarily in that
order. The sums of the numbers at the ends
of the line segments AB, BC, CD, DE and
EA form an arithmetic sequence although
not necessarily in that order. What is the
middle term of the arithmetic sequence?

(1) 9 (2) 10

(3) 11 (4) 12

30. The coefficient of x49 in the product

(x – 1)(x – 3)(x – 5)……(x – 99) is

(1) 1 (2) –999

(3) –2990 (4) –2500

31. If 
1

5x
x

  , then

3 2
3 2

1 5 1
5x x x

x x x
     =

(1) –5 (2) 0

(3) 5 (4) 10
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32. fp= esa ABCD  vk;r ftlesa AE = EF = FB

gS rc f=Hkqt CEF dk {ks=Qy rFkk vk;r ds
{ks=Qy  ABCD dk vuqikr gksxk&

(1) 1 : 6 (2) 1 : 8

(3) 1 : 9 (4) 1 : 10

33. rhu oxZ ftudh foek fp= esa vafdr gS] Nk;kafdr
prqHkqZt dk {ks=Qy gksxk&

(1) 4.5 (2) 16/7

(3) 21/4 (4) 3.6

34. ABCD ,d oxZ ftldk 'kh"kZ A ewy fcUnq gS]
fod.kZ  AC ds e/; fcUnq ds funsZ'kkad (p/2, 1) gS
rc p dk eku gksxk ;fn oxZ ABCD  dk {ks=Qy
20 bdkbZ oxZ gS&

(1) ± 6 (2) ± 20

(3) ± 10 (4) ± 36

35. o`Ùk S
1
 dsUnz (1, 2) rFkk f=T;k 3 gS oÙ̀k S

2
,  dsUnz

(9, 8) rFkk f=T;k 7 gS] o`Ùk S
1
 rFkk S

2 
ftl

fcUnq ij Li'kZ djrs gS] bl fcUnq ds funsZ'kkad
gksxs&

(1) 
17 19

,
5 5

 
 
 

(2) 
33 31

,
5 5

 
 
 

(3) 
17 19

,
10 10
 
 
 

(4) 
33 31

,
10 10
 
 
 

32. In the diagram ABCD is a rectangle with
AE = EF = FB, the ratio of the area of tri-
angle CEF and that of rectangle ABCD is

(1) 1 : 6 (2) 1 : 8

(3) 1 : 9 (4) 1 : 10

33. Three squares have the dimension indicated
in the diagram. What is the area of shaded
quadrilateral?

(1) 4.5 (2) 16/7

(3) 21/4 (4) 3.6

34. ABCD is a square whose vertex A lies on
the origin. The coordinates of the mid-point
of the diagonal AC are (p/2, 1). Find the
value of p such that the area of square ABCD
is 20 sq. units.

(1) ± 6 (2) ± 20

(3) ± 10 (4) ± 36

35. The circle S1 has centre at (1, 2) and radius
3; the circle S2 has centre at (9, 8) and ra-
dius 7. The circle S1 and S2 touch at the
point whose coordinates are:

(1) 
17 19

,
5 5

 
 
 

(2) 
33 31

,
5 5

 
 
 

(3) 
17 19

,
10 10
 
 
 

(4) 
33 31

,
10 10
 
 
 
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36. js[kk,¡ 3 4x y   rFkk 3 4x y  gksxh&

(1) ,d nwljs ds lekUrj

(2) ,d nwljs ds yEcor~

(3) leku

(4) ewy fcUnq ls leku nwjh ij

37. ;fn x = a cos3rFkk y = b sin3rc

2/3 2/3

?
x y

a a
       
   

(1) 2 (2) a

(3) b (4) 1

38. ;fn sin x + sin2 x = 1 rc cos12x+3cos10x+3

cos8x + cos6 x dk eku gksxk&

(1) 0 (2) 1

(3) 2 (4) 3

39. ;fn 
cos sin 1 3

cos sin 1 3

  


  
 rc gksxk&

(1) 300 (2) 450

(3) 600 (4) 900

40. Vkoj ds vk/kkj ls 9 ehVj rFkk 16 ehVj dh
nwjh ij nks fcUnqvksa ls Vkoj ds 'kh"kZ dk mUu;u
dks.k tks fd lh/kh js[kk o leku fn'kk esa gS]
iwjd gS] Vkoj dh Å¡pkbZ gksxh&

(1) 12 m (2) 12 m

(3) 20 m (4) 25 m

36. The lines 3 4x y   and 3 4x y  are

(1) parallel to each other.

(2) perpendicular to each other.

(3) Identical.

(4) equidistant from the origin

37. If  x = a cos3and y = b sin3then

2/3 2/3

?
x y

a a
       
   

(1) 2 (2) a

(3) b (4) 1

38. If sin x + sin2 x = 1 then the value of
cos12x+3cos10x+3 cos8x + cos6 x is-

(1) 0 (2) 1

(3) 2 (4) 3

39. If 
cos sin 1 3

cos sin 1 3

  


  
 then is-

(1) 300 (2) 450

(3) 600 (4) 900

40. The angles of elevation of the top of tower
from two points at a distance of 9 m and 16
m from the base of the tower and in the same
straight line in the same direction with it are
complementary. Then height of the tower is

(1) 12 m (2) 12 m

(3) 20 m (4) 25 m
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[MENTAL ABILITY]

41. ;fn A + B dk vFkZ gS A, B dh ek¡ gSA A× B dk
vFkZ gS A,B dk firk gSA A$B dk vFkZ gS  A, B

dk HkkbZ gSA A@B  dk vFkZ gS A, B dh cgu
gSA fuEufyf[kr esa ls fdldk vFkZ gS fd P,Q

dk iq= gS&

(1) Q + R @ P @ N

(2) Q + R * @ N

(3) Q * R $ P @ N

(4) Q × R $ P $ N

42. A ds 3 cPps gSaA B, C dk HkkbZ gS vkSj C,D cgu
gSA E tks A dh iRuh gS D dh ek¡ gSA E ds ifr
dh dsoy ,d iq=h gSA D rFkk B ds chp dk
laca/k gS&

(1) HkkbZ (2) pkpk

(3) firk (4) cfgu

43. fuEufyf[kr eas ls dkSulk osu vkjs[k bu rhu
Jsf.k;ksa ds fy, lcls lgh gS& laxhrK] oknd]
ok;fyu oknd

(1) 

(2) 

(3) 

(4) 

41. If A + B means A is the mother of B; A × B
means A is the father of B : A $ B means A
is the brother of B and A @ B means A is
the sister of B. Then which of the following
means P is the son of Q?

(1) Q + R @ P @ N

(2) Q + R * @ N

(3) Q * R $ P @ N

(4) Q × R $ P $ N

42. A has 3 children. B is the brother of C and
C is the sister of D, E who is the wife of A is
the mother of D. There is only one daughter
of the husband of E. What is the relation
between D and B?

(1) Brother (2) Uncle

(3) Father (4) Sister

43. Which of the following diagrams correctly
represents the relationship among the classes
Musicians, Instrumentalists, Violinists.

(1) 

(2) 

(3) 

(4) 
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44. fuEufyf[kr esa ls dkSulk vkjs[k bu Jsf.k;ksa
lgh fu:i.k djrk gS& dcwrj] i{kh] dqÙks

(1) 

(2) 

(3) 

(4) 

45. ;fn fdlh fuf'pr dwVHkk"kk esa TRIANGLE

dks SQHZMFKD fy[kk tkrk gS rks fdl 'kCn
dks  DWZLOKD fy[kk tk,xk&

(1) EXAMPLE

(2) FIGMENT

(3) DISMISS

(4) DISJOIN

44. Which of the following diagrams correctly
represents among the classes

Pigeons, Birds, Dogs

(1) 

(2) 

(3) 

(4) 

45. If in a certain language TRIANGLE is coded
as SQHZMFKD, which word would be
coded as DWZLOKD?

(1) EXAMPLE

(2) FIGMENT

(3) DISMISS

(4) DISJOIN
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46. If DELHI is coded as 73541 and
CALCUTTA, as 82589662, how can
CALICUT be code?

(1) 5279431

(2) 5978213

(3) 8251896

(4) 8543691

47. Solve the puzzle given below:

(1) 0 (2) 3

(3) 1 (4) 5

48. Pick the odd one out from the following :

(1) 1999 (2) 1952

(3) 2003 (4) 2014

46. ;fn fdlh dwVHkk"kk esa DELHI dks 73541 vkSj
CALCUTTA dks 82589662 fy[kk tkrk gS rks
CALICUT dks dSls fy[kk tk,xk&

(1) 5279431

(2) 5978213

(3) 8251896

(4) 8543691

47. uhps nh xbZ igsyh dks gy dhft,&

(1) 0 (2) 3

(3) 1 (4) 5

48. fuEufyf[kr esa ls fo"ke dks pqfu;s&

(1) 1999 (2) 1952

(3) 2003 (4) 2014
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49. vf'ouh dk eq[k if'pe esa gS vkSj mldh ihB
iwoZ esa rc mlds cka;h rjQ dkSulh fn'kk gS&

(1) mÙkj (2) if'pe

(3) nf{k.k (4) iwoZ

50. O;; vkSj cpr dk vuqikr 4 : 5 gS] ;fn vk; esa
20% dh o`f) gksrh gS vkSj cpr esa 10% dh
o`f) gksrh gS rks mlds O;; esa fdrus izfr'kr
dh of̀) gksuh pkfg,&

(1) 30% (2) 24%

(3) 28% (4) 32.5%

49. Ashwini is facing "WEST" and her back is
facing "EAST", which direction is to her
left?

(1) North (2) West

(3) South (4) East

50. The ratio of expenditure and savings is 4 :
5, if the income increases by 20% and the
savings increase by 10% then by how much
percent should his expenditure increase?

(1) 30% (2) 24%

(3) 28% (4) 32.5%




